A £ 0l & AF & S

Al A

FA SAAIS
Hm: Lol=x =X
ChSl: TOH-Ol MEOE Xgl (cre:xigl)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SXIAFS 1t 217,856,108 218,517,513 A\B61,405
= 175,942,280
[ 3,374,043
AltI 31,163,457
-l 7,376,328
o=k 58 193,724,246 194,115,221 A390,975
= 163,148,212
[ 3,374,043
AlH] 22,069,853
Tl 5,132,138
Mot detoty X2 182,976,765 182,917,289 59,476
= 159,586,454
= 3,374,043
AlHI 17,350,273
-l 2,665,995
DIESSEINI=) 177,310,288 177,310,288 0
= 169,586,454
AlHI 15,951,451
Tl 1,772,383
301 LEtE N = 177,310,288 177,310,288 0
= 169,586,454
AlH] 15,951,451
Tl 1,772,383
01 ARIE2EHSFS(RRNEERTHE) 177,310,288 177,310,288 0
OJl=¢= 177,310,283,000& 177,310,288
= 159,586,454
Alt] 15,951,451
Tl 1,772,383
d24E FRaA 247,958 247,958 0
AlHI 173,571
Tl 74,387
307 elzto| & 247,958 247,958 0
AlHI 173,571
-l 74,387
05 212+ =S 247,958 247,958 0
O3dzAad REa4 247,958,000 247,958
AlHI 173,571
Tl 74,387
NAS THOHZ QIALAHEHE 200,562 200,562 0
AlH] 140,3%4
Tl 60,168
307 elzto| & 200,562 200,562 0
AlHI 140,3%4




A SXAMS D
Hm: Lol=x =X
Rl TOM-Ql MEOLY X|®l (Shol: % 2)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
-l 60,168
05 git?(& = 200,562 200,562 0
ORAS THIH=O! AAHHE
200,562,000 200,562
Albl 140,3%4
- 60,168
SOE LOlMUXIE 324,000 324,000 0
AlHI 324,000
301 22N = 324,000 324,000 0
Albl 324,000
02 MBI 2HASFS(HAAS, XNLHE) 324,000 324,000 0
SOl oM X1 324,000,000 324,000
AltI 324,000
CoIESSAHIA X 4,639,844 4,630,720 9,124
= 3,247,886
Altl 695,979
el 695,979
307 212t01& 4,639,844 4,630,720 9,124
= 3,247,886
AlHI 695,979
-l 695,979
11 AR SXAIEE X 4,639,844 4,630,720 9,124
OLoINESENIA X2
4,639,844,000& 4,630,844
= 3,247,886
AltI 695,979
-l 695,979
SN0 - SSE SSAE Y AL 254,113 203,761 50,352
= 126,157
AltI 64,878
-l 63,078
307 @I2t0| & 254,113 203,761 50,352
[ 126,157
AlHI 64,878
Tl 63,078
05 glzt?(& = 254,113 203,761 50,352
OSHEL - S5 SsHHAAHIA
254,113,000 254,113
[ 126,157
AlHI 64,878
-l 63,078
olgiiel #5 & ootgs XN 7,231,242 7,221,093 10,149
= 2,940,758
AlHI 2,218,341




2A:

Hm: Lol=x =X
&l Lolgitel &5 L ootes XA (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 2,072,143
colgiiel & AtelESAIE & 5,400,000 5,400,000 0
= 2,700,000
AlHI 1,620,000
Tl 1,080,000
307 elztol & 5,400,000 5,400,000 0
= 2,700,000
Alt] 1,620,000
Tl 1,080,000
05 2IMRIE =3 5,400,000 5,400,000 0
OelgXtel AMHXIE 5,400,000,000& 5,400,000
= 2,700,000
Altl 1,620,000
Tl 1,080,000
AILIOIZE 22 241,940 241,940 0
AlHI 205,650
Tl 36,290
307 elztol & 241,940 241,940 0
AltI 205,650
Tl 36,290
05 212t =S 241,940 241,940 0
OAlLIIZE =22 241,940,000 241,940
AlHI 205,650
Tl 36,290
Z2E - HEHl 2 2= XA 481,516 405,600 75,916
= 240,758
AltI 120,379
-l 120,379
307 21201 & 481,516 405,600 75,916
= 240,758
AltI 120,379
Tl 120,379
1 AMISXAIEEXS 481,516 405,600 75,916
O3dzg 4 - &l & 2=Hl N
481,516,000& 481,516
= 240,758
AltI 120,379
-l 120,379
d=zd =29 624,000 608,400 15,600
Altl 216,000
Tl 408,000
307 212+01& 624,000 608,400 15,600
Al 216,000




A SXAL I

L= s
ool LolgTiel #E Y 0DIES XY (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 408,000
11 AMEISXAEEXS 624,000 608,400 15,600
ogdzg 29 Xz 624,000,000& 624,000
AlHI 216,000
Tl 408,000
0s= 328 =29 X 66,600 66,600 0
307 glztol & 66,600 66,600
I EET e 66,600 66,600
ODISE 32Y 29 X
66,600,000& 66,600
F2E=e|T2 08 22|kt biX 43,144 40,781 2,363
AltI 21,572
-l 21,572
307 @120l & 43,144 40,781 2,363
AlHI 21,572
2| 21,572
1 ABIS XA EE 43,144 40,781 2,363
OF2Y =5|T202 221Xt Xl
43,144,000 43,144
AlH] 21,572
Tl 21,572
ded 243 A 27,800 27,800 0
AltI 15,300
Tl 12,500
307 @20l & 27,800 27,800 0
AlHI 15,300
Tl 12,500
1 AR SXAIEE X 27,800 27,800 0
OZz2¢ gdst X# 27,800,000 27,800
Alt] 16,300
Tl 12,500
=g el 157,960 168,360 2400
201 Ler23| 4,360 4,760 2400
2 s5=34l 4,360 4,360 0
OelHHARs ¥ PC 2 3,960,000& 3,960
OLEIUSXNS0ISHE ATAE HEEH
400,000& 400
301 22N = 23,600 23,600
02 MBI 2HHSFS(FHAANS, KLHE) 23,600 23,600
OgZd Z2¢E ?I= 23,600,000 23,600
401 AIZHIZ SO 80,000 80,000
01 Al&HI 80,000 80,000
o3dzg 2= 80,000,000& 80,000




FA SAAIS
Hm: Lol=x =X
&l Lolgitel &5 L ootes XA (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
405 AHaHE = 50,000 50,000
01 It =S F = 50,000 50,000
ogdzg 23 XN& 50,000,000& 50,000
Colus 2SN 32,400 32,400 0
AltI 19,440
-l 12,960
307 @I2to| & 32,400 32,400 0
AltI 19,440
Tl 12,960
11 AMRISXAEEES 32,400 32,400 0
Okxolud 29 K&
300,000& 9l 12& 32,400
AlH] 19,440
Tl 12,960
EOl I AHIA XIH 185,882 152,882 3,000
203 HR=4Y] 2,034 2,034 0
03 A=A PR FA| 2,034 2,034 0
OLQSXAIE SAHA 2t 2
500,000 *90% 450
OAtot=S0tg SAIH2E 22
630,000 *90% 567
O=XANHA HRFH 500, 0002 *90% 450
Okoliti=g gf=d
630, 0002 *90f% 567
301 LEtE NS 133,848 130,848 3,000
02 ARSI SEHTS(FIANS, XLETHE) 12,000 12,000 0
OMaS oAl HH2ER
1,000,000& x12& 12,000
10 AR =224 1,848 1,848 0
OLoID ABl=eRe FAY|
, 0003 *1H 222« 123 1,848
14 0Bt 243 120,000 117,000 3,000
OXSHSAXCE &St X
50,0002 x200H * 122 120,000
307 212+01& 20,000 20,000
04 QIZHHAIAIRH 2 X 20,000 20,000
OkQlo & I8 o2l stitg =Xl
20,000,000 20,000
LoIgAE 2N 2,234,019 2,234,019 0
= 621,000
Alt] 1,613,019
LZ AL 2STHI(HEAIY) 894,843 894,843 0
AlHI 894,843
307 glztol & 894,843 894,843 0




2A:
X XH -
o e

=aak

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AlH] 894,843
10 MEISXAAEHE2EHIE2X 8%4,843 894,843 0
OZ=zAE 29 XE 894,843,000 894,843
AlHI 894,843
COIRAAIE SAA SX=E K& 232,560 232,560 0
AltI 232,560
307 212t01™ 232,560 232,560 0
Alt] 232,560
10 MEISXAEHE2EHIEX 232,560 232,560 0
OLQAE SANL SX=¢
232,560,000 232,560
Alt] 232,560
MASH(EHAIE) 690,000 690,000 0
= 621,000
AlHI 69,000
301 22N = 690,000 690,000 0
= 621,000
AltI 69,000
01 Al EHAGZ2(2DEZME) 690,000 690,000 0
OLQI=XIAIE LAXE M SO
690,000,000 690,000
= 621,000
Altl 69,000
Mot-I=XIAIE 28l K= 416,616 416,616 0
AlHI 416,616
307 212t01™ 416,616 416,616 0
AlHI 416,616
10 Al SXAIEEHE 22X 416,616 416,616 0
OMIt=ISXIAIE 2| XI&
416,616,000 416,616
Albl 416,616
LelEX2 28 % UEteels XA 1,282,220 1,742,820 460,600
Altl 888,220
el 394,000
MSHAIZ T oIS X2 29 495,480 495,480 0
Albl 363,280
- 142,200
307 212t01d 495,480 495,480 0
AlHI 363,280
-l 142,200
05 212t =S 495,480 495,480 0
OAIStAIEE M eI= X2 2
495,480,000 495,480
AltI 353,280




S =TIART
M. LoI=sK S&
ool LoISXB 2% o (fEHolEl X (crel: g)
SN - B S(BH) - HBAY - BAS 0l &y G o HIRS2
| | 142,200
MBS OIS 2 29 495,480 495,480 0
Albl 353,280
2| 142,200
307 QIZ2t0I ™ 495,480 495,480 0
Albl 353,280
| 142,200
05 aI2teE 2 495,480 495,480 0
OXEHEAME OISR 2 2
495,480,000 495,480
AlHI 353,280
=4l 142,200
AMEBAEH ==X 2 230,560 230,560 0
Albl 163,660
2| 66,900
307 QIZt0I™ 230,560 230,560 0
Albl 163,660
| 66,900
05 a2t E 2 230,560 230,560 0
OMZBAIRIH =X 2Y
230,560,000& 230,560
AlHI 163,660
=4l 66,900
et 013 SEsAY K& 60,700 61,300 2600
AlHI 18,000
2| 42,700
307 QIZt0I™ 60,700 61,300 2600
AlbI 18,000
| 42,700
02 CIZHEAAMHE R 10,000 14,300 N4,300
OLo=XEx BE Xg
10,000,000& 10,000
03 QIZIHXBE2IHIE X 50,700 47,000 3,700
OUfstolsl 22| N
50,700,000& 50,700
AlHI 18,000
2| 32,700
Zoel=Xl K& 22,557,056 22,687,056 130,000
= 12,283,600
Albl 8,764,213
| 1,509,243
ORISR B& 18,729,381 18,829,381 100,000
= 12,231,650
Albl 5,000,488




2A:

SAIALS Dt

M ZOI=X X2
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

-l 1,497,243

o= 6,136,886 6,136,886 0
= 4,295,820
AlHI 1,841,066

301 EtE NS 6,136,886 6,136,886 0
= 4,295,820
AltI 1,841,066

01 AR 2EHSHS(RNEXRTHE) 6,136,886 6,136,886 0
o= 6, 136,886,000 6,136,886
= 4,295,820
AlHI 1,841,066

S ESS{PIES 1,140,000 1,140,000 0
= 798,000
Alt] 239,400
Tl 102,600

301 EtE NS 1,140,000 1,140,000 0
= 798,000
Altl 239,400
Tl 102,600

01 AR 2EHSHS(RDNEXRTHE) 1,140,000 1,140,000 0
OF{ Ea={@IES) 1, 140,000,000 1,140,000
= 798,000
AlHI 239,400
Tl 102,600

o= (XaRS) 502,100 502,100 0
= 361,470
AltI 105,441
-l 45,189

301 LEtE NS 502,100 502,100 0
= 361,470
AltI 105,441
Tl 45,189

01 Al EE A S (2 RDEXA) 502,100 502,100 0
OF =S (X&) 502, 100,000& 502,100
= 361,470
AlHI 105,441
Tl 45,189

AU RPN E= St S N 380,000 380,000 0
AlHI 380,000

301 EtE NS 380,000 380,000 0
AlHI 380,000

02 ANRI2HHSHS(HAAS, NLHE) 380,000 380,000 0
OZOfe! e 380,000,000 380,000
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2A:

SAIALS Dt

M ZOI=X X2
Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 2,586
01 Al EE A S (2 RDEEMA) 12,930 12,930 0
OFMASRIPDN(NEEXRIF) W=
12,930,000& 12,930
= 10,344
Tl 2,586
ZoHe! yerEAtiel XA (HLH) 518,644 518,644 0
= 259,322
Altl 259,322
301 EtE N = 518,644 518,644 0
= 259,322
Al 250,322
01 Al EE A S (2 RDEXA) 518,644 518,644 0
OFoKel YerEATIZ X (HLH)
518,644,000 518,644
= 259,322
AlHI 259,322
ZoHe! et ARtel KR (AIZEA) 67,074 67,074 0
= 33,537
AlHI 33,537
301 LEtE NS 67,074 67,074 0
= 33,537
Alt] 33,537
01 Al EE A S (2 REXMR) 67,074 67,074 0
OmOe! LU XIS (AIZHA)
67,074,000 67,074
= 33,537
AlHI 33,537
Zofel SAELtel X 238,680 238,680 0
= 119,340
AlHI 119,340
301 LEtE NS 238,680 238,680 0
= 119,340
Al 119,340
01 Al EE AT S (2 DEXR) 238,680 238,680 0
Ol SXgL el X
238,680,000 238,680
= 119,340
AlHI 119,340
AT EOHCIQHOLAF TiFA 140,000 140,000 0
= 112,000
AlHI 28,000
307 lztol & 140,000 140,000 0
= 112,000




2A:

SAIALS Dt

M ZOI=X X2
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 28,000
05 212t =S 140,000 140,000 0
OAIZ E 0 OHOFAF THAALS
140,000,000 140,000
= 112,000
AltI 28,000
ZoHI S X2 (HHRH) 5,520,000 5,520,000 0
= 3,864,000
Altl 828,000
Tl 828,000
308 XXM SOIH 5,520,000 5,520,000 0
= 3,864,000
AltI 828,000
-l 828,000
183 S| 2SO B XA AIE 5,520,000 5,520,000 0
OHONUSS X (HIRH)
5,520,000,000& 5,520,000
= 3,864,000
AlHI 828,000
-l 828,000
ZOHIES X2 (AlHI) 403,218 403,218 0
Al 403,218
308 AXIHSOIA 403,218 403,218 0
AlHI 403,218
13 SIS0t 4 A A A 403,218 403,218 0
OZOHA &S KA (AlHI) 403,218,000 403,218
AlHI 403,218
BSEXRIMISH 5,370 5,370 0
= 3,759
AltI 1,611
308 XHXIEMSO0IH 5,370 5,370 0
= 3,759
Altl 1,611
18 SIS0t oA AS A 5,370 5,370 0
OESEXRINSH 5,370,000& 5,370
= 3,759
Alt] 1,611
LdEHEMEIA XIS 1,189,878 1,189,878 0
= 832,915
AltI 178,482
-l 178,481
308 AXIHSO0IA 1,189,878 1,189,878 0
= 832,915




2A:

SAIALS Dt

= OIS K&
Rl ZoHeI=X S (St &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AlH] 178,482
- 178,481
18 SIS0t & A AS A 1,189,878 1,189,878 0
OgLMHEAMHIA X3 1,189,878,000& 1,189,878
= 832,915
Altl 178,482
el 178,481
ALY Hi*H K 2,000 2,000 0
= 1,400
Albl 600
308 AHXIEMSOIH 2,000 2,000 0
= 1,400
Alt] 600
183 S| 2SO ZB XA AIE 2,000 2,000 0
odogEx= 2,000,000 2,000
= 1,400
AlHI 600
LR PR 4,000 4,000 0
= 2,800
AltI 1,200
308 XXM SOIH 4,000 4,000 0
= 2,800
Altl 1,200
18 S 2SS & AEAIE 4,000 4,000 0
ORI 22 A2lag xR
4,000,000& 4,000
= 2,800
AlHI 1,200
LN F=AESMHIAXR 1,674,481 1,674,481 0
= 1,172,137
AltI 251,172
-l 251,172
308 AHXIHMSO0IA 1,674,481 1,674,481 0
= 1,172,137
AltI 251,172
-l 221,172
183 S| 2SO &HAEAIE 1,674,481 1,674,481 0
OgLHel F2EsAElA XA
1,674,481,000& 1,674,481
= 1,172,137
AlHI 251,172
-l 251,172
LT F2AESMHHIA AIBIZIHAE At 20,000 20,000 0




FA SAAIS
Zal: FojeI=R K
oels ZoieI=EX Sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 20,000
308 AtXIEHMSOIE 20,000 20,000 0
AlHI 20,000
18 SIS0t & A AS A 20,000 20,000 0
Og2de FHESAHHIA AHIFIHAIE
20,000,000& 20,000
AltI 20,000
FAYE LEHHR HU=ESAHIA XE 284,586 284,586 0
= 199,210
Albl 85,376
308 AXIMSOIA 284,586 284,586 0
= 199,210
Alt] 85,376
18 SIS0t AS A 284,586 284,586 0
OFad LEI gusasHA X&
284,586,000 284,586
= 199,210
AltI 85,376
FHAANE ES 19,215 19,215 0
201 er23| 18,675 18,675
01 At2tltl 2,900 2,900
Ol EAt 22AH2 OHAZHAF K=
15,0003 »20= 300
Ol ASXHEAl M=
1,00021%2,0000H 2,000
OBATOfO! 43IEASS
100,000& *42] 400
OAIZ &0l BXAEIZ M
8002 +250& 200
02 S3=gHl 15,775 15,775 0
OdsEa+ 8| RAE+
900,000& 900
oRE= 14,875,000& 14,875
203 HR=H] 540 540
03 A=A PR A 540 540
OHOHASH & AIESALA 21E 3
600, 0002 *90% 540
oIS 2SN 40,000 10,000 30,000
307 @120l & 40,000 10,000 30,000
02 QB HANEEX 10,000 10,000 0
OZ=Xsa s
10,000,000 10,000
04 QIZHHAIAIRH 2 & 30,000 0 30,000
Ol HASA Z3=H X2
30,000,000& 30,000




2A:

X XH -
o=

SAIALS Dt
I =X X

Rl ZoHeI=X S (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ol =22t HAESA 2SR 30,000 30,000 0

AlHI 30,000
307 21201 & 30,000 30,000 0
Altl 30,000
05 2I2HRIE S 30,000 30,000 0
OmONO! ZYZZ YNLSL 2AT 2
30,000,000 30,000
AlHI 30,000
SSH OF2t=alZ 2 AMHIA 146,324 146,324 0
AltI 146,324
307 elztol & 146,324 146,324 0
Albl 146,324
11 AMISXAIEEX 146,324 146,324 0
O=SZ 0Ll OFt=al22AHIA
146,324,000 146,324
Altl 146,324
ZOHA=SXAIE K& 3,827,675 3,857,675 30,000
= 51,950
AlHI 3,763,725
Tl 12,000
Zojelsx2 23X 967,666 997,666 /30,000
AltI 967,666
307 212+01& 967,666 997,666 /30,000
Alt] 967,666
05 212+ =S 967,666 967,666 0
OFeI=X2 2SS
967,666,000 967,666
Altl 967,666
Fofelsia S 28N 37,600 37,600 0
AlHI 37,600
307 glztol & 37,600 37,600 0
AlHI 37,600
05 2IR”IRIE = 37,600 37,600 0
OZel=i2 5= 28X
37,600,000 37,600
Alt] 37,600
e =2UESAIE 2EXE 858,074 858,074 0
Altl 858,074
307 el2tol & 858,074 858,074 0
AltI 858,074
10 AlRIS XA EEE 22X 858,074 858,074 0
O =2+ ESAId 2EXE
858,074,000 858,074
AlHI 858,074




FA SAAIS
M ZOI=X X
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oIS He 22 AEE 2SS 40,375 40,375 0
AlHI 28,375
Tl 12,000
307 el2to| & 40,375 40,375 0
AltI 28,375
-l 12,000
10 AlISAAZEE 22X 40,375 40,375 0
OZRSHe! 22HHY 2EXE
40,375,000 40,375
Albl 28,375
Tl 12,000
ZoHel=0SHME 2SN 179,798 179,798 0
AlHI 179,798
307 21201 & 179,798 179,798 0
Albl 179,798
10 Al SXAAEEHE2EHI2x 179,798 179,798 0
Ol +=UHSHHH 2SN
179,798,000 179,798
AltI 179,798
ORI ATHEAIL (B X E) 2RI 941,351 941,351 0
AltI 941,351
307 212+01& 941,351 941,351 0
Alt] 941,351
10 AlISXAZEE 22X 941,351 941,351 0
OTMHAMATHEAN L (ESHAE) 2SN
941,351,000 941,351
Albl 941,351
Jojelss4EIE 2ENA 541,424 541,424 0
AltI 541,424
307 glztol & 541,424 541,424 0
AlHI 541,424
10 Al SXAEEE 22X 541,424 541,424 0
Ol ssdEIE 22
541,424,000 541,424
Alt] 541,424
ST NSdEdyH 2HAH 129,875 129,875 0
= 51,950
AltI 77,925
307 212+01& 129,875 129,875 0
= 51,950
AltI 77,925
10 Al2IS XA E 22X 129,875 129,875 0
OS&sM NHYEdH 23X
129,875,000& 129,875




2A:

SAIALS Dt

M ZOI=X X
Rl ZOHI=SXIAIE X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 51,950
AltI 77,925
STTHC NHHMSHE 2SR (AHIFI 20,000 20,000 0
AltI 20,000
307 212+01& 20,000 20,000 0
Alt] 20,000
10 AlISAAZEE 22X 20,000 20,000 0
ST NHHHHE 2SI (AHIF
ot) 20,000,000& 20,000
Albl 20,000
AL I w=cldle] 2SN 91,512 91,512 0
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